
Cylindrical brush head 1080 (97155840)  -> 81-60-1993 akt-Stand

This print may include data out of date! For current spare part catalogue please visitwww.hako.com

Page 1 of 2



Cylindrical brush head 1080 (97155840)  -> 81-60-1993 akt-Stand

Pos. Part-No. Material-No. Description Measurement DIN/ISO
Serial No.
begin

Serial No. end valid from valid until Remarks Qty.
U
i

1 03022680 96148754 housing 1 P

2 00127470 90055500 Buffer 2 P

3 00102150 12310256 Washer B6,4-140HV-A2 DIN 125 4 P

4 01377520 92045798 driver R.H. 1 P

5 00101540 12040259 Hex. Nut M8-A2-70 DIN 985 12 P

6 00101550 12310264 Washer B8,4-140Hv-A2 DIN 125 6 P

7 00102140 12040242 Hex. Nut M6-A2-70 DIN 985 2 P

8 01377670 92045806 driver L.H. 1 P

9 01377620 11620275 round head screw M8x20-A2-70 DIN 603 12 P

10 01377350 17384041 catch 6007-U80 2 P

11 01377540 92054592 bolt 2 P

12 01072520 11177179 Lens flange screw 6kt.M6x10-A2 2 P

13 97155865 Side cover, cpl.
Not available! Pos. has sub-assemblies!
Please take double click on pos.no.!

14 00052620 11175155 Fillister-head screw M4x12-4.8-H A2G DIN 7985 4 P

15 00053710 12310017 Washer B4,3-140HV-St A2G DIN 125 4 P

16 00133830 12040028 Hex. Nut M4-6 A2G DIN 985 4 P

17 01377760 96164835 litter hopper 1 P

18 01170830 11127198 Socket head screw M8x16-A2-70 ISO 4762 2 P

19 01102910 17095027 Grasp GN 528-PA-117-SW 1 P

20 00101540 12040259 Hex. Nut M8-A2-70 DIN 985 2 P

21 97144349 Rocker with connection
Not available! Pos. has sub-assemblies!
Please take double click on pos.no.!

22 97153639 Guide
Not available! Pos. has sub-assemblies!
Please take double click on pos.no.!

23 97155840-1
Motors - drive - cylindrical
brushes

Not available! Pos. has sub-assemblies!
Please take double click on pos.no.!

This print may include data out of date! For current spare part catalogue please visitwww.hako.com

Page 2 of 2


